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ESOME ARITHMETIC!

Use your arithmetic, written methods and problem solving skills to answer
all of the questions. Make sure you turn over!

289 + 162 =

72 + 4 =

What is the value of the

Find the difference between

underlined digit: 34 and 182
345
85 x 4 = Complete the sequence:

150 200 __ 300 350 __ _

Complete the following using <
> or =

4ml 4|
305kg 35g
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Now turn over for your problem solving and reasoning questions...
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In this grid, there are four multiplications.

Write the three missing numbers.

4 X 8 =

X X

3 X = 21
56

Ken buys 3 large boxes and 2 small boxes of chocolates.

Each large box has 48 chocolates. Each small box has 24 chocolates.
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L‘:r:e Small
24
chocolates
chocolates

How many chocolates did Ken buy altogether?



